Stat 103 - Spring 2014


Quiz 2

Name _____Solutions___________________

1.  A sample of 30 recently sold single-family houses in a midwestern community is selected to study the relationship between selling price and assessed value and leads to the following output. (Price and assessed  value are both in thousands of dollars.) Use the output to answer the questions below.
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Independent variable: AssessedValue

-----------------------------------------------------------------------------

                               Standard          T

Parameter       Estimate         Error       Statistic        P-Value

-----------------------------------------------------------------------------

Intercept       -44.1725        7.34607       -6.01307         0.0000

Slope            1.78171      0.0954586       ________         0.0000

-----------------------------------------------------------------------------





                           Analysis of Variance

-----------------------------------------------------------------------------

Source             Sum of Squares     Df  Mean Square    F-Ratio      P-Value

-----------------------------------------------------------------------------

Model                     4206.67      1      4206.67     348.37       0.0000

Residual                  338.105     28      12.0752

-----------------------------------------------------------------------------

Total (Corr.)             4544.78     29



Correlation Coefficient = 0.962084

R-squared = _________ percent

R-squared (adjusted for d.f.) = 92.2949 percent

Standard Error of Est. = 3.47493


a. What is the equation of the estimated regression line?

b. What is the t – statistic for the hypothesis test of the slope?

c. How many degrees of freedom are associated with the test in part (b)?

d. What is the value of the coefficient of determination for the data?


e. What percentage of the variation in the observed rents is explained by the model?

f. What is the value of S? (include the proper units.)

g. Estimate the variance of the error variable for the model

h. Use the regression to estimate the price of a house in the community with an assessed value of $80,000.

*** this Problem continues on the next page ***

i. Estimate the difference in the price of  two homes in the community whose whose assessed values  differ by $10,000.


j. Use the graph below to estimate with 95% confidence, to the nearest thousand dollars, the price of a particular house assessed at $69,000. (You may assume that the output was created using = 0.05.) Show your work on the graph! 
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Price = -44.17 + 1.78AssessedValue





t =18.66





df = 28





R2 = 0.9256





about 92.56%





S =$3,475





12.0752 x 106





$98,230





Answer: Approximately ($69,000, $89,000)





$17,800
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